82 BSMETE 1540 82
120 s 1300 120
35 1230 35
79.5 45 45 79.5

XEERES RT-081

i —— SRRt LY
¥=Uv7 (Bi&) BAVEEASZ =10 (38)
i /qﬂ?&'b B t=10 ¢ i #5294EF579 b
D (D 73T TH) \ 7L IRBIM E‘m@ﬁg% f“;@*ﬁ
= |
© I Eﬁfﬁ%t)j
U TTTTTT | LALLTTTT 1] ATUZ|t=25
! 7 By mT
RLSEE (LTHE L . N
73 2 — — | — — -
B P "INR t=1 @INT
: |
KRR 86 ‘
! RN RN
REDAI B ‘ Bt T t=2 @iFnT
O ! 272 =25
- |
[e @] |
—%@ wiﬁéﬂ%o%i&ﬁ& ‘
_ v =1. | @ 1
KIRANA WZASIB xﬁm 3b 435 111,57 i \
O ' 1 I
= KER 8¢ I ; =
‘ il e \\ BERAZNN -
B Ny 2)b W=30 ! 5 X FHR =1 BINT
TV B ERAM ﬁ ! @ < /// i@)\*?\ﬂﬁ%zﬁ)\"f
4mmT 2 2E2 @300 = ‘ 722z L TR t=2 @ImT
o SEPE) BilEh T - (B t=2 BB D) $9 } BEHE Y
- A7V 2 t=2.5
— ZBKkg W=100 - @iy T
o Z BT 2
o 7I9-Ffrn S
& RITIN-
(B7Uh-IHE R EMCEREE)
8 S UPEEPLY: S "7 n-
L
© EHENII(RIE)
WA -2 (BIEHHE)
BT 4/ 5 (31)
CEEVIS )
YUY g (RIR)
fEBOTE 1240
FHEOTE 1340 150 32
/ \—mmﬂwi@)
Bk (B&) \ it (R18)
799-5-307 9¢
4047 1.86
i
{7 IR =F-n
THH FHIREIR 54 h2E-20y # SHOL—130x AR A i = PR =mrsUTSTyonRat
B WHEW @ A
a1 u 2 - RN . DEL-MHE A 5
R T T it K T T T T S / #




